

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: November 3, 2025

Progress Estimate Number 15	Contract ID Prime Contract		018-C10 ker, Inc.	Pay Period Sta Pay Period En	,		Original Contract Amount Net Change Order Amount Current Contract Amount	\$9,214,268.22 \$336,152.8 \$9,550,421.03
Approval Date								By User
November 3, 2025			G	enerated and App	roved (and should be	consider	ed Draft) at the Project Office Level by	marshp4
November 3, 2025			Revie	wed and Approve	d (and should be cons	sidered D	raft) at the Resident Engineer Level by	scarpm1
November 4, 2025				Rev	viewed and Approved	at the Ce	entral Office Controllers Office Level by	ramses1
Original Completi	on Date	Current C	Completio	n Date	Actual Completion I	Date	% of Current Contract Amount	Complete
June 1, 202	6	Jur	ne 1, 2026				94.68%	
	Cont	ract Informa	ational Da	tes			Milestones	
Date Description	Original Comp	letion Date	Current	Completion Date		No Miles	tones Exist for Contract	
Acceptance Date								
Awarded Date	November 8, 20	024	Novembe	er 8, 2024				
Letting Date	October 18, 202	24	October	18, 2024				
Notice to Proceed Date	December 9, 20	024	Decembe	er 9, 2024				
Work Began Date	April 21, 2025		April 21.	2025				

Contract Total Pay For	Estimate No. 15			
		This Estimate	Previous	To Date
241018-C10				
1	Total Posted Items Pay	\$623,598.28	\$8,418,536.63	\$9,042,134.91
	Gross Item Adjustments	(\$431,543.82)	\$1,681.22	(\$429,862.60)
li li	ncentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
L	iquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$41,938.84	\$41,938.84
			\$8,462,156.69	\$8,654,211.15
Contract Total Payable	This Estimate:	\$192,054.46		

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JKU0074	0040	4030116	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125B MIX)	TONS	\$96.190	4,818.200	\$463,462.66
	0050	4071005	TACK COAT	GAL	\$4.120	3,905	\$16,088.60
	0310	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$3.160	45,584.500	\$144,047.02

 Project JKU0074 - Total
 \$623,598.28

 Overall - Total
 \$623,598.28

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

		ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JKU0074	0030	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Material			-8,195.65000	\$88.55	(\$725,724.81)
	0030	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user marshp4 overridding Payment Estimate Exception 1 on the current Payment Estimate.	8,195.65000	\$88.55	\$725,724.81
	0040	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125B MIX)	Material			-6,759.80000	\$96.19	(\$650,225.16)
	0040	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125B MIX)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user marshp4 overridding Payment Estimate Exception 2 on the current Payment Estimate.	6,759.80000	\$96.19	\$650,225.16
	0040	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125B MIX)	Other Item Adjustment	Asphalt Cement Price	\$3,838.11 Mainline \$112.82 Small Quantity \$3,689.56 Mainline (Omitted from Estimate			\$7,640.49

Revision 10/17/2025 Page 1 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: November 3, 2025

Estimate	gress e Numl 15	Contract ID oer Prime Contractor	241018-C10 Ideker, Inc.	Pay Period Pay Period		October 16, 2025 November 1, 2025	Net Change	ntract Amount Order Amoun ntract Amount		\$9,214,268.2 \$336,152.8 \$9,550,421.0
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type		Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JKU0074				Adjustment	0014)					
	0040	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125B MIX)	Overrun					-4,565.80000	\$96.19	(\$439,184.31)
	0200	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	Material					-528	\$20.00	(\$10,560.00)
	0200	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	MaterialCredit					528	\$20.00	\$10,560.00
	0270	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Material					-11,995	\$0.19	(\$2,279.05)
	0270	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	MaterialCredit					11,995	\$0.19	\$2,279.05
	0280	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Material					-57,718	\$0.26	(\$15,006.68)
	0280	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	MaterialCredit					57,718	\$0.26	\$15,006.68
	0290	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Material					-49,456	\$0.26	(\$12,858.56)
	0290	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	MaterialCredit					49,456	\$0.26	\$12,858.56
	0410	SH-FLAT SHEET	Material					-24	\$22.00	(\$528.00)
	0410	SH-FLAT SHEET	Material		generat Adjustm overrido	iustment offsets the origi ed Material Payment Est nent (0012) due to user n ding Payment Estimate E current Payment Estimate	timate Item narshp4 exception 10	24	\$22.00	\$528.00
Total		·								(\$431,543.82)

Revision 10/17/2025 Page 2 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ontract Project Informati	on
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
JKU0074	FAF-40-1 (13)	Coldmill and resurface	40	JACKSON	from Sterling Avenue to	I-70 in Grain Valley	
Totals b	y Job Nu	ımbers					
JKU0074					This Estimate	Previous	To Date
		l Item Pay Item Adjustme			\$623,598.28 (\$431,543.82)	\$8,418,536.63 \$1,681.22	\$9,042,134.91 (\$429,862.60)
			Gross	Item Pay	\$192,054.46	\$8,420,217.85	\$8,612,272.31
	Incenti	ive			\$0.00	\$0.00	\$0.00
	Disinc				\$0.00	\$0.00	\$0.00
		ated Damages			\$0.00	\$0.00	\$0.00
	Other	Contract Adjus	stments		\$0.00	\$41,938.84	\$41,938.84

Revision 5/29/2025 Page 3 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JKU0074, Item 4011209, Project Item Line Number 0030, Material Set 401120996, Material 0401BPPMBP1 - Plant Mix for Bit Pavement BP-1, Acceptance Action Generic AspLow is insufficient.	Testing results pending upload.	marshp4	Overridden
Estimate Exception Type: Insufficient Materials: Project JKU0074, Item 4030116, Project Item Line Number 0040, Material Set 403011696, Material 0403SP095B - Superpave 9.5 mm, Des B, Acceptance Action Generic AspHigh is insufficient.	Testing results pending upload.	marshp4	Overridden
Estimate Exception Type: Insufficient Materials: Project JKU0074, Item 6200015, Project Item Line Number 0200, Material Set 620001596, Material 1048PMPFWH - Preformed Thermoplastic Marking Tape Wh, Acceptance Action Generic 1048PMPFWH is insufficient.	Awaiting material certification.	marshp4	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JKU0074, Item 6205901A, Project Item Line Number 0270, Material Set 6205901A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	Awaiting material certification.	marshp4	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JKU0074, Item 6205901A, Project Item Line Number 0270, Material Set 6205901A96, Material 1048PMTRHBWBYL - Marking Paint Acrylic Watr HiBld Yellow, Acceptance Action Generic 1048PMTRHBWBYL is insufficient.	Awaiting material certification.	marshp4	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JKU0074, Item 6205902A, Project Item Line Number 0280, Material Set 6205902A96, Material 1048PMTRHBWBWH - Marking Paint Acrylic Watr HiBld White, Acceptance Action Generic 1048PMTRHBWBWH is insufficient.	Awaiting material certification.	marshp4	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JKU0074, Item 6205902A, Project Item Line Number 0280, Material Set 6205902A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	Awaiting material certification.	marshp4	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JKU0074, Item 6205903A, Project Item Line Number 0290, Material Set 6205903A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	Awaiting material certification.	marshp4	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JKU0074, Item 6205903A, Project Item Line Number 0290, Material Set 6205903A96, Material 1048PMTRHBWBYL - Marking Paint Acrylic Watr HiBld Yellow, Acceptance Action Generic 1048PMTRHBWBYL is insufficient.	Awaiting material certification.	marshp4	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JKU0074, Item 9035004A, Project Item Line Number 0410, Material Set 9035004A96, Material 1042SM - Sign Material, Acceptance Action Generic 1042SM is insufficient.	Certification received. Acceptance criteria to be updated.	marshp4	Overridden
Estimate Exception Type: Item Overrun: Contract 241018-C10, Contract Project JKU0074, Project Item Line Number 0040, Contract Line Item Number 0040, Item 4030116, Minor Item.	Overrun to be addressed at a later date.	marshp4	Acknowledged
Estimate Exception Type: Item Overrun: Contract 241018-C10, Contract Project JKU0074, Project Item Line Number 0130, Contract Line Item Number 0130, Item 6161025, Minor Item.	Overrun to be addressed at a later date.	marshp4	Acknowledged

Revision 5/29/2025 Page 4 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

t I	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
- JI	KU0074	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$4,460.00	\$4,460.0
		0001	0020	2153000	SHAPING SLOPES, CLASS III	3.00	0.75	3.75	100F	3.75	\$807.00	\$3,026.2
		0001	0030	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	11,149.00	0.00	11,149.00	TONS	8,195.65	\$88.55	\$725,724.8
		0001	0040	4030116	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125B MIX)	50,194.00	0.00	50,194.00	TONS	54,759.80	\$96.19	\$5,267,345.1
		0001	0050	4071005	TACK COAT	56,545.00	0.00	56,545.00	GAL	53,735.00	\$4.12	\$221,388.2
		0001	0060	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	624.00	124.00	748.00	SQYD	748.00	\$275.85	\$206,335.8
		0001	0070	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	62.00	0.00	62.00	SQYD	0.00	\$1.00	\$0.0
		0001	0800	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	62.00	0.00	62.00	SQYD	0.00	\$10.00	\$0.0
		0001	0090	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	2,808.00	0.00	2,808.00	LF	2,439.00	\$10.00	\$24,390.0
		0001	0100	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	1,560.00	0.00	1,560.00	EA	999.00	\$8.75	\$8,741.2
		0001	0110	6161005	CONSTRUCTION SIGNS	2,163.00	0.00	2,163.00	SQFT	1,303.00	\$6.50	\$8,469.5
		0001	0120	6161008	ADVANCED WARNING RAIL SYSTEM	49.00	0.00	49.00	EA	35.00	\$55.00	\$1,925.0
		0001	0130	6161025	CHANNELIZER (TRIM-LINE)	350.00	0.00	350.00	EA	375.00	\$18.00	\$6,750.0
		0001	0140	6161030	TYPE 3 MOVEABLE BARRICADE	30.00	0.00	30.00	EA	9.00	\$155.00	\$1,395.0
		0001	0150	6161033	DIRECTION INDICATOR BARRICADE	64.00	0.00	64.00	EA	21.00	\$80.00	\$1,680.0
		0001	0160	6161040	FLASHING ARROW PANEL	5.00	0.00	5.00	EA	3.00	\$2,750.00	\$8,250.0
		0001	0170	6161055	SEQUENTIAL FLASHING WARNING LIGHT	64.00	0.00	64.00	EA	0.00	\$70.00	\$0.0
		0001	0180	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	8.00	0.00	8.00	EA	2.00	\$3,995.00	\$7,990.0
		0001	0190	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$488,179.30	\$488,179.3
		0001	0200	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	3,492.00	0.00	3,492.00	LF	528.00	\$20.00	\$10,560.0
		0001	0210	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	2,380.00	0.00	2,380.00	LF	0.00	\$20.00	\$0.0
		0001	0220	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	246.00	0.00	246.00	EA	0.00	\$205.00	\$0.0
		0001	0230	6200024	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	1.00	0.00	1.00	EA	0.00	\$325.00	\$0.0
		0001	0240	6200027	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	6.00	0.00	6.00	EA	0.00	\$375.00	\$0.0
		0001	0250	6200030	PREFORMED THERMOPLASTIC PAVEMENT MARKING, WORD (ONLY)	2.00	0.00	2.00	EA	0.00	\$525.00	\$0.0
		0001	0260	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	143.00	0.00	143.00	EA	0.00	\$205.00	\$0.0
		0001	0270	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	119,789.00	0.00	119,789.00	LF	11,995.00	\$0.19	\$2,279.0
		0001	0280	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	217,222.00	0.00	217,222.00	LF	57,718.00	\$0.26	\$15,006.6
		0001	0290	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	56,840.00	0.00	56,840.00	LF	49,456.00	\$0.26	\$12,858.5
		0001	0300	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	183.00	0.00	183.00	LF	0.00	\$0.52	\$0.0
		0001	0310	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	565,432.00	0.00	565,432.00	SQYD	489,267.00	\$3.16	\$1,546,083.7
		0001	0320	6261000A		761.00	0.00	761.00	STA	761.00	\$19.00	\$14,459.0
		0010	0330	6261001	BITUMINOUS CENTERLINE RUMBLE STRIP	113.00	0.00	113.00	STA	113.00	\$24.00	\$2,712.0
		0010	0340	6061060 6061068	MGS GUARDRAIL MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED	1,425.00	525.00 0.00	1,950.00	LF EA	1,950.00	\$20.50 \$3,307.00	\$39,975.0 \$3,307.0
		0010	0360	6061080	CURB) MGS END ANCHOR	3.00	1.00	4.00	EA	4.00	\$1,084.00	\$4,336.0
		0010	0370	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	1.00	5.00	EA	5.00	\$2,872.00	\$14,360.0
		0030	0380	9029902	MISC.OPTIONAL TRAFFIC SIGNAL DETECTORS	12.00	0.00	12.00	EA	6.00	\$18,760.00	\$112,560.0
		0040	0390	9031270A	2 IN. PSST POST - 12 GA.	46.00	0.00	46.00	LF	46.00	\$22.00	\$1,012.0
		0040	0400	9031271A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	4.00	0.00	4.00	EA	4.00	\$126.00	\$504.0
		0040	0410	9035004A	SH-FLAT SHEET	24.00	0.00	24.00	SQFT	24.00	\$22.00	\$528.0
		0001	5001	6133018	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	0.00	740.00	740.00	TONS	667.90	\$96.19	\$64,245.3
		0001	5002	6133019	REMOVAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	0.00	4,444.00	4,444.00	SQYD	4,291.00	\$27.09	\$116,243.1
		0001	5003	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	0.00	3,145.00	3,145.00	SQYD	3,145.00	\$29.74	\$93,532.3
		0010	5004	2029903	MISC.GUARDRAIL REMOVAL	0.00	540.00	540.00	LF	540.00	\$2.82	\$1,522.8
Б	roject Jk	U0074 - To			Date as of Report Generated Date							\$9,042,134.8

Revision 5/29/2025 Page 5 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JKU0074

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0040	4030116	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP1	10/16/25	10/22/25	1	640.29	TONS	WB side streets and RTLs LM 12.083 to 11.164 EB #2 Lane LM 11.164 to 11.519					
			10/20/25	10/22/25	1	1,264.08	TONS		11.519		13.258		
			10/21/25	11/3/25	1	1,239.07	TONS	EB #2 Lane LM 13.258 to 14.48. WB #2 Lane LM 14.622 to 13.493.					
			10/22/25	11/3/25	1	1,674.76	TONS	WB #2 Lane LM 13.493 to 11.157					
0050	4071005	TACK COAT	10/16/25	10/22/25	1	364.00	GAL	WB side streets and RTLs LM 12.083 to 11.164 EB #2 Lane LM 11.164 to 11.519					
			10/20/25	10/22/25	1	922.00	GAL		11.519		13.258		
			10/21/25	11/3/25	1	1,164.00	GAL	EB #2 Lane LM 13.258 to 14.48. WB #2 Lane LM 14.622 to 13.493.					
			10/22/25	11/3/25	1	1,455.00	GAL	WB #2 Lane LM 13.493 to 11.157					
0310	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	10/16/25	10/22/25	1	5,336.00	SQYD	Side roads and outside turn lanes. WB 243.819-244.734. EB 11.170-11.511	243.819	N/A	244.734	N/A	
			10/20/25	10/22/25	1	11,529.00	SQYD	L2 EB from LM 11.511 to LM 13.257	11.511	N/A	13.257	N/A	
			10/21/25	10/27/25	1	12,963.00	SQYD	Lane 2. EB LM 13.257-14.479. WB LM 241.277-242.411	var	N/A	var	N/A	
			10/22/25	10/27/25	1	15,756.50	SQYD	WB L2 LM 242.411 to LM 244.738.	242.411	N/A	244.738	N/A	

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 6/5/2025 Page 6 of 12



Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
			Туре	Adjustment Type	Number	Date	Ву		
JKU0074	0030	BIT. PAVEMENT MIXTURE	Material		8	Jul 16, 2025	SYSTEM	(\$725,724.81)	
		PG64-22 (BP-1)			8	Jul 16, 2025	SYSTEM	\$725,724.81	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user marshp4 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					9	Aug 4, 2025	SYSTEM	(\$725,724.81)	
					9	Aug 4, 2025	SYSTEM	\$725,724.81	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user marshp4 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					10	Aug 18, 2025	SYSTEM	(\$725,724.81)	
					10	Aug 18, 2025	SYSTEM	\$725,724.81	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user marshp4 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					11	Sep 2, 2025	SYSTEM	(\$725,724.81)	
					11	Sep 2, 2025	SYSTEM	\$725,724.81	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user marshp4 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					12	Sep 16, 2025	SYSTEM	(\$725,724.81)	
					12	Sep 16, 2025	SYSTEM	\$725,724.81	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user marshp4 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					13	Oct 1, 2025	SYSTEM	(\$725,724.81)	
					13	Oct 1, 2025	SYSTEM	\$725,724.81	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user marshp4 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					14	Oct 16, 2025	SYSTEM	(\$725,724.81)	
					14	Oct 16, 2025	SYSTEM	\$725,724.81	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user marshp4 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					15	Nov 3, 2025	SYSTEM	(\$725,724.81)	
					15	Nov 3, 2025	SYSTEM	\$725,724.81	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user marshp4 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	d .				\$0.00	
			Other Item Adjustment	ACAD	5	Jun 2, 2025	marshp4	\$2,512.93	
					7	Jul 1, 2025	marshp4	\$1,317.47	
					8	Jul 16, 2025	marshp4	\$1,742.64	
				ACAD - Tota	al			\$5,573.04	
			Other Item Ad	justment - To	tal			\$5,573.04	
	0030 -	Total						\$5,573.04	
	0040	ASPHALTIC CONCRETE MIXTURE PG	Material		5	Jun 2, 2025	SYSTEM	(\$949,799.30)	
		76-22 (SP1			5	Jun 2, 2025	SYSTEM	\$949,799.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user marshp4 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					6	Jun 16, 2025	SYSTEM	(\$2,193,124.30)	
					6	Jun 16, 2025	SYSTEM	\$2,193,124.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user marshp4 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					7	Jul 1, 2025	SYSTEM	(\$2,624,986.62)	
					7	Jul 1, 2025	SYSTEM	\$2,624,986.62	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user marshp4 overridding Payment Estimate Exception 1 on the current Payment Estimate.



	ine	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
074 00		ASPHALTIC CONCRETE	Material		8	Jul 16, 2025	SYSTEM	(\$3,365,124.43)	
		MIXTURE PG 76-22 (SP1			8	Jul 16, 2025	SYSTEM	\$3,365,124.43	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user marshp4 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					9	Aug 4, 2025	SYSTEM	(\$3,890,337.22)	
					9	Aug 4, 2025	SYSTEM	\$3,890,337.22	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user marshp4 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					10	Aug 18, 2025	SYSTEM	(\$3,890,337.22)	
					10	Aug 18, 2025	SYSTEM	\$3,890,337.22	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user marshp4 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					11	Sep 2, 2025	SYSTEM	(\$427,497.22)	
					11	Sep 2, 2025	SYSTEM	\$427,497.22	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user marshp4 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					14	Oct 16, 2025	SYSTEM	(\$186,762.50)	
					14	Oct 16, 2025	SYSTEM	\$186,762.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user marshp4 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					15	Nov 3, 2025	SYSTEM	(\$650,225.16)	
					15	Nov 3, 2025	SYSTEM	\$650,225.16	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user marshp4 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
			Other Item Adjustment	ACAD	4	May 16, 2025	marshp4	\$5,494.33	AC Price Index Adjustment
					5	Jun 2,	marshp4	\$2,602.41	
						2025			
					6	Jun 16, 2025	marshp4	\$10,599.11	
					6	Jun 16,	marshp4	\$10,599.11 \$3,681.54	
						Jun 16, 2025 Jul 1,	·		
					7	Jun 16, 2025 Jul 1, 2025 Jul 16,	marshp4	\$3,681.54	
					7	Jun 16, 2025 Jul 1, 2025 Jul 16, 2025 Aug 4,	marshp4	\$3,681.54 \$6,309.52	Asphalt Cement Price Adjustment
					7 8 9	Jun 16, 2025 Jul 1, 2025 Jul 16, 2025 Aug 4, 2025 Oct 1,	marshp4 marshp4 marshp4 marshp4	\$3,681.54 \$6,309.52 \$4,477.33 \$803.30 \$3,294.93	Asphalt Cement Price Adjustment Asphalt Cement Price Adjustment
					7 8 9	Jun 16, 2025 Jul 1, 2025 Jul 16, 2025 Aug 4, 2025 Oct 1, 2025 Oct 16,	marshp4 marshp4 marshp4	\$3,681.54 \$6,309.52 \$4,477.33 \$803.30	,
				ACAD - Tota	7 8 9 13 14	Jun 16, 2025 Jul 1, 2025 Jul 16, 2025 Aug 4, 2025 Oct 1, 2025 Oct 16, 2025 Nov 3,	marshp4 marshp4 marshp4 marshp4	\$3,681.54 \$6,309.52 \$4,477.33 \$803.30 \$3,294.93	Asphalt Cement Price Adjustment \$3,838.11 Mainline \$112.82 Small Quantity
			Other Item Ac		7 8 9 13 14 15	Jun 16, 2025 Jul 1, 2025 Jul 16, 2025 Aug 4, 2025 Oct 1, 2025 Oct 16, 2025 Nov 3,	marshp4 marshp4 marshp4 marshp4	\$3,681.54 \$6,309.52 \$4,477.33 \$803.30 \$3,294.93 \$7,640.49	Asphalt Cement Price Adjustment \$3,838.11 Mainline \$112.82 Small Quantity
			Other Item Ac		7 8 9 13 14 15	Jun 16, 2025 Jul 1, 2025 Jul 16, 2025 Aug 4, 2025 Oct 1, 2025 Oct 16, 2025 Nov 3,	marshp4 marshp4 marshp4 marshp4	\$3,681.54 \$6,309.52 \$4,477.33 \$803.30 \$3,294.93 \$7,640.49 \$44,902.96 \$44,902.96 (\$439,184.31)	Asphalt Cement Price Adjustment \$3,838.11 Mainline \$112.82 Small Quantity
				ljustment - To	7 8 9 13 14 15 tal 15	Jun 16, 2025 Jul 1, 2025 Jul 16, 2025 Aug 4, 2025 Oct 1, 2025 Nov 3, 2025	marshp4 marshp4 marshp4 marshp4 marshp4 marshp4	\$3,681.54 \$6,309.52 \$4,477.33 \$803.30 \$3,294.93 \$7,640.49 \$44,902.96	Asphalt Cement Price Adjustment \$3,838.11 Mainline \$112.82 Small Quantity
				Overrun - To	7 8 9 13 14 15 tal 15	Jun 16, 2025 Jul 1, 2025 Jul 16, 2025 Aug 4, 2025 Oct 1, 2025 Nov 3, 2025	marshp4 marshp4 marshp4 marshp4 marshp4 marshp4	\$3,681.54 \$6,309.52 \$4,477.33 \$803.30 \$3,294.93 \$7,640.49 \$44,902.96 \$44,902.96 (\$439,184.31)	Asphalt Cement Price Adjustment \$3,838.11 Mainline \$112.82 Small Quantity
occ		Total	Overrun	Overrun - To	7 8 9 13 14 15 tal 15	Jun 16, 2025 Jul 1, 2025 Jul 16, 2025 Aug 4, 2025 Oct 1, 2025 Nov 3, 2025	marshp4 marshp4 marshp4 marshp4 marshp4 marshp4	\$3,681.54 \$6,309.52 \$4,477.33 \$803.30 \$3,294.93 \$7,640.49 \$44,902.96 \$44,902.96 (\$439,184.31) (\$439,184.31)	Asphalt Cement Price Adjustment \$3,838.11 Mainline \$112.82 Small Quantity
	060	FURN & PLACE CONC MATL FOR	Overrun	Overrun - To	7 8 9 13 14 15 tal 15	Jun 16, 2025 Jul 1, 2025 Jul 16, 2025 Aug 4, 2025 Oct 1, 2025 Nov 3, 2025	marshp4 marshp4 marshp4 marshp4 marshp4 marshp4	\$3,681.54 \$6,309.52 \$4,477.33 \$803.30 \$3,294.93 \$7,640.49 \$44,902.96 \$44,902.96 (\$439,184.31) (\$439,184.31)	Asphalt Cement Price Adjustment \$3,838.11 Mainline \$112.82 Small Quantity
	060	FURN & PLACE	Overrun - Tot	Overrun - To	7 8 9 13 14 15 15 otal	Jun 16, 2025 Jul 1, 2025 Jul 16, 2025 Aug 4, 2025 Oct 1, 2025 Nov 3, 2025	marshp4 marshp4 marshp4 marshp4 marshp4 marshp4 SYSTEM	\$3,681.54 \$6,309.52 \$4,477.33 \$803.30 \$3,294.93 \$7,640.49 \$44,902.96 \$44,902.96 (\$439,184.31) (\$439,184.31) (\$439,184.31)	Asphalt Cement Price Adjustment \$3,838.11 Mainline \$112.82 Small Quantity



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JKU0074	0060	FURN & PLACE CONC MATL FOR FULL DEPTH	Material		4	May 16, 2025	SYSTEM	\$206,335.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user marshp4 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	Jun 2, 2025	SYSTEM	(\$206,335.80)	
					5	Jun 2, 2025	SYSTEM	\$206,335.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user marshp4 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota					\$0.00	
					2	May 2	SYSTEM		
			Overrun	Overrun	3	May 2, 2025		(\$34,205.40)	
					8	Jul 16, 2025	SYSTEM	\$34,205.40	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',275.85000 - 275.85000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	0060	- Total						\$0.00	
	0130	CHANNELIZER (TRIM-LINE)	Overrun	Overrun	5	Jun 2, 2025	SYSTEM	(\$450.00)	
				Overrun - T	otal			(\$450.00)	
			Overrun - Tota	al				(\$450.00)	
	0130 -	- Total						(\$450.00)	
	0180	CHANGEABLE	Material		2	Apr 16,	SYSTEM	(\$7,990.00)	
	0100	MESSAGE SIGN WITHOUT COMMUNICATION	Waterial		2	2025 Apr 16,	SYSTEM	\$7,990.00	This adjustment offsets the original system-generated Material Payment
		INTERFACE, CONTRACTOR			_	2025	OTOTEM	ψ1,000.00	Estimate Item Adjustment (0001) due to user evansm7 overridding Payment Estimate Exception 1 on the current Payment Estimate.
		FURNISHED / RETAINED		- Total				\$0.00	
			Material - Tota	al				\$0.00	
	0180 -	- Total							
								\$0.00	
	0200	PREF THERMO	Material		14	Oct 16,	SYSTEM	\$0.00 (\$10,560.00)	
		PREF THERMO PVMT MARK, 24 IN WHIT	Material		14	2025 Nov 3,	SYSTEM SYSTEM		
		PVMT MARK, 24	Material	Total		2025		(\$10,560.00) (\$10,560.00)	
		PVMT MARK, 24		- Total		2025 Nov 3,		(\$10,560.00) (\$10,560.00) (\$21,120.00)	
		PVMT MARK, 24	Material - Tota		15	2025 Nov 3, 2025	SYSTEM	(\$10,560.00) (\$10,560.00) (\$21,120.00) (\$21,120.00)	
		PVMT MARK, 24		al		2025 Nov 3,		(\$10,560.00) (\$10,560.00) (\$21,120.00) (\$21,120.00) \$10,560.00	
		PVMT MARK, 24	Material - Tota MaterialCredit	al - Total	15	2025 Nov 3, 2025	SYSTEM	(\$10,560.00) (\$10,560.00) (\$21,120.00) (\$21,120.00) \$10,560.00	
	0200	PVMT MARK, 24 IN WHIT	Material - Tota	al - Total	15	2025 Nov 3, 2025	SYSTEM	(\$10,560.00) (\$10,560.00) (\$21,120.00) (\$21,120.00) \$10,560.00 \$10,560.00	
	0200	PVMT MARK, 24	Material - Tota MaterialCredit	al - Total	15	2025 Nov 3, 2025	SYSTEM	(\$10,560.00) (\$10,560.00) (\$21,120.00) (\$21,120.00) \$10,560.00	
	0200	PVMT MARK, 24 IN WHIT -Total 4 IN. YELLOW HIGH BUILD	Material - Tota MaterialCredit	al - Total	15	2025 Nov 3, 2025	SYSTEM	(\$10,560.00) (\$10,560.00) (\$21,120.00) (\$21,120.00) \$10,560.00 \$10,560.00	
	0200	PVMT MARK, 24 IN WHIT -Total 4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT,	Material - Tota MaterialCredit MaterialCredit	al - Total	15	2025 Nov 3, 2025 Nov 3, 2025	SYSTEM	(\$10,560.00) (\$10,560.00) (\$21,120.00) (\$21,120.00) \$10,560.00 \$10,560.00 (\$10,560.00)	
	0200	PVMT MARK, 24 IN WHIT -Total 4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT	Material - Tota MaterialCredit MaterialCredit	al - Total	15	2025 Nov 3, 2025 Nov 3, 2025 Oct 16, 2025 Nov 3,	SYSTEM	(\$10,560.00) (\$10,560.00) (\$21,120.00) (\$21,120.00) \$10,560.00 \$10,560.00 (\$10,560.00) (\$2,279.05)	
	0200	PVMT MARK, 24 IN WHIT -Total 4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT,	Material - Tota MaterialCredit MaterialCredit	- Total - Total - Total	15	2025 Nov 3, 2025 Nov 3, 2025 Oct 16, 2025 Nov 3,	SYSTEM	(\$10,560.00) (\$10,560.00) (\$21,120.00) (\$21,120.00) \$10,560.00 \$10,560.00 (\$10,560.00) (\$2,279.05)	
	0200	PVMT MARK, 24 IN WHIT -Total 4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT,	Material - Tota MaterialCredit MaterialCredit MaterialCredit	- Total - Total - Total	15	2025 Nov 3, 2025 Nov 3, 2025 Oct 16, 2025 Nov 3,	SYSTEM	(\$10,560.00) (\$10,560.00) (\$21,120.00) (\$21,120.00) \$10,560.00 \$10,560.00 (\$10,560.00) (\$2,279.05) (\$2,279.05)	
	0200	PVMT MARK, 24 IN WHIT -Total 4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT,	Material - Tota MaterialCredit MaterialCredit Material Material	- Total - Total - Total	15 15 14 15	2025 Nov 3, 2025 Nov 3, 2025 Oct 16, 2025 Nov 3, 2025	SYSTEM SYSTEM SYSTEM SYSTEM	(\$10,560.00) (\$10,560.00) (\$21,120.00) (\$21,120.00) \$10,560.00 \$10,560.00 (\$10,560.00) (\$2,279.05) (\$2,279.05) (\$4,558.10)	
	0200	PVMT MARK, 24 IN WHIT -Total 4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT,	Material - Tota MaterialCredit MaterialCredit Material Material	- Total - Total - Total - Total	15 15 14 15	2025 Nov 3, 2025 Nov 3, 2025 Oct 16, 2025 Nov 3, 2025	SYSTEM SYSTEM SYSTEM SYSTEM	(\$10,560.00) (\$10,560.00) (\$21,120.00) (\$21,120.00) \$10,560.00 \$10,560.00 (\$10,560.00) (\$2,279.05) (\$2,279.05) (\$4,558.10) (\$4,558.10) \$2,279.05	
	0200 - 0200 - 0270	PVMT MARK, 24 IN WHIT -Total 4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT,	Material - Tota MaterialCredit MaterialCredit Material Material Material - Tota MaterialCredit	- Total - Total - Total - Total	15 15 14 15	2025 Nov 3, 2025 Nov 3, 2025 Oct 16, 2025 Nov 3, 2025	SYSTEM SYSTEM SYSTEM SYSTEM	(\$10,560.00) (\$10,560.00) (\$21,120.00) (\$21,120.00) \$10,560.00 \$10,560.00 (\$10,560.00) (\$2,279.05) (\$2,279.05) (\$4,558.10) \$2,279.05	
	0200 - 0270 -	PVMT MARK, 24 IN WHIT -Total 4 IN, YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS -Total 6 IN. WHITE HIGH BUILD	Material - Tota MaterialCredit MaterialCredit Material Material Material - Tota MaterialCredit	- Total - Total - Total - Total	15 15 14 15	2025 Nov 3, 2025 Nov 3, 2025 Oct 16, 2025 Nov 3, 2025	SYSTEM SYSTEM SYSTEM SYSTEM	(\$10,560.00) (\$10,560.00) (\$21,120.00) (\$21,120.00) \$10,560.00 \$10,560.00 (\$10,560.00) (\$2,279.05) (\$2,279.05) (\$4,558.10) \$2,279.05 \$2,279.05 \$2,279.05	
	0200 - 0270 -	-Total 4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Material - Tota MaterialCredit MaterialCredit Material Material - Tota MaterialCredit MaterialCredit	- Total - Total - Total - Total	15 14 15	2025 Nov 3, 2025 Nov 3, 2025 Oct 16, 2025 Nov 3, 2025	SYSTEM SYSTEM SYSTEM SYSTEM	(\$10,560.00) (\$10,560.00) (\$21,120.00) (\$21,120.00) \$10,560.00 \$10,560.00 (\$10,560.00) (\$2,279.05) (\$2,279.05) (\$4,558.10) (\$4,558.10) \$2,279.05 \$2,279.05 (\$2,279.05)	
	0200 - 0270 -	PVMT MARK, 24 IN WHIT -Total 4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS -Total 6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT	Material - Tota MaterialCredit MaterialCredit Material Material - Tota MaterialCredit MaterialCredit	- Total - Total - Total - Total	15 14 15 15	2025 Nov 3, 2025 Nov 3, 2025 Oct 16, 2025 Nov 3, 2025	SYSTEM SYSTEM SYSTEM SYSTEM	(\$10,560.00) (\$10,560.00) (\$21,120.00) (\$21,120.00) \$10,560.00 \$10,560.00 (\$10,560.00) (\$2,279.05) (\$2,279.05) (\$4,558.10) \$2,279.05 \$2,279.05 \$2,279.05 (\$2,279.05) (\$4,558.10) \$2,279.05 \$2,279.05 (\$2,279.05) (\$2,279.05) (\$2,279.05) (\$2,279.05) (\$2,279.05) (\$2,279.05) (\$2,279.05) (\$2,279.05) (\$2,279.05)	
	0200 - 0270 -	PVMT MARK, 24 IN WHIT -Total 4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS -Total 6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TMARKING PAINT, TMARKING PAINT,	Material - Tota MaterialCredit MaterialCredit Material Material - Tota MaterialCredit MaterialCredit	- Total - Total - Total - Total - Total - Total - Total	15 14 15 15	2025 Nov 3, 2025 Nov 3, 2025 Oct 16, 2025 Nov 3, 2025	SYSTEM SYSTEM SYSTEM SYSTEM	(\$10,560.00) (\$10,560.00) (\$21,120.00) (\$21,120.00) \$10,560.00 \$10,560.00 (\$10,560.00) (\$2,279.05) (\$2,279.05) (\$4,558.10) (\$4,558.10) \$2,279.05 \$2,279.05 (\$2,279.05) (\$2,279.05) (\$15,006.68)	
	0200 - 0270 -	PVMT MARK, 24 IN WHIT -Total 4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS -Total 6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TMARKING PAINT, TMARKING PAINT,	Material - Tota MaterialCredit MaterialCredit Material - Tota MaterialCredit MaterialCredit MaterialCredit	- Total - Total - Total - Total - Total - Total - Total	15 14 15 15	2025 Nov 3, 2025 Nov 3, 2025 Oct 16, 2025 Nov 3, 2025	SYSTEM SYSTEM SYSTEM SYSTEM	(\$10,560.00) (\$10,560.00) (\$21,120.00) (\$21,120.00) \$10,560.00 \$10,560.00 (\$10,560.00) (\$2,279.05) (\$2,279.05) (\$4,558.10) \$2,279.05 \$2,279.05 \$2,279.05 (\$2,279.05) (\$15,006.68) (\$15,006.68)	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
KU0074	0280	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	MaterialCredit			2025			
				- Total				\$15,006.68	
			MaterialCredit	- Total				\$15,006.68	
	0280 -	- Total						(\$15,006.68)	
	0290	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Material		14	Oct 16, 2025	SYSTEM	(\$12,858.56)	
					15	Nov 3, 2025	SYSTEM	(\$12,858.56)	
				- Total		2023		(\$25,717.12)	
			Material - Tota					(\$25,717.12)	
			MaterialCredit		15	Nov 3,	SYSTEM	\$12,858.56	
						2025			
				- Total				\$12,858.56	
			MaterialCredit	t - Total				\$12,858.56	
		- Total	0 1 11		0		0)/07514	(\$12,858.56)	
	0340	MGS GUARDRAIL	Construction Stockpile		9	Aug 4, 2025	SYSTEM	(\$17,527.50)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$17,527.50)	
			Construction	Stockpile - To	otal			(\$17,527.50)	
			Construction Stockpile STMI		3	May 2, 2025	SYSTEM	\$17,527.50	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$17,527.50	
			Construction Stockpile STMI - Total						
		- Total						\$0.00	
		MGS BRIDGE APP. TRANS SEC (EXT CURB)	Construction Stockpile		9	Aug 4, 2025	SYSTEM	(\$1,869.30)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$1,869.30)	
			Construction	Stockpile - To			011011	(\$1,869.30)	
			Construction Stockpile STMI		3	May 2, 2025	SYSTEM	\$1,869.30	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total					
								\$1,869.30	
			Construction		VII - Total			\$1,869.30	
	0350 -	MGS END	Construction		MI - Total	Aug 4,	SYSTEM		Payment Estimate Item Adjustment generated Stockpile Transaction
						Aug 4, 2025	SYSTEM	\$1,869.30 \$0.00 (\$2,203.35)	Payment Estimate Item Adjustment generated Stockpile Transaction
		MGS END	Construction	Stockpile STM	9		SYSTEM	\$1,869.30 \$0.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		MGS END	Construction Stockpile Construction Construction Stockpile	Stockpile STM	9		SYSTEM	\$1,869.30 \$0.00 (\$2,203.35) (\$2,203.35)	Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction
		MGS END	Construction Stockpile Construction Construction	Stockpile STM	9 otal	2025 May 2,		\$1,869.30 \$0.00 (\$2,203.35) (\$2,203.35) (\$2,203.35)	
		MGS END	Construction Stockpile Construction Construction Stockpile	Stockpile STN - Total Stockpile - To	9 Otal 3	2025 May 2,		\$1,869.30 \$0.00 (\$2,203.35) (\$2,203.35) (\$2,203.35) \$2,203.35	
		MGS END	Construction Stockpile Construction Construction Stockpile STMI	Stockpile STN - Total Stockpile - To	9 Otal 3	2025 May 2,		\$1,869.30 \$0.00 (\$2,203.35) (\$2,203.35) (\$2,203.35) \$2,203.35	
		MGS END	Construction Stockpile Construction Construction Stockpile STMI Construction	Stockpile STN - Total Stockpile - To	9 otal 3	May 2, 2025 Oct 16,	SYSTEM	\$1,869.30 \$0.00 (\$2,203.35) (\$2,203.35) (\$2,203.35) \$2,203.35 \$2,203.35	
		MGS END	Construction Stockpile Construction Construction Stockpile STMI Construction	Stockpile STN - Total Stockpile - To	9 otal 3 Wil - Total	Oct 16, 2025 Oct 16, 2025	SYSTEM	\$1,869.30 \$0.00 (\$2,203.35) (\$2,203.35) (\$2,203.35) \$2,203.35 \$2,203.35 \$2,203.35 (\$4,336.00)	Payment Estimate Item Adjustment generated Stockpile Transaction This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user marshp4 overridding Payment
		MGS END	Construction Stockpile Construction Construction Stockpile STMI Construction	- Total - Total - Total Stockpile - Total Stockpile STM	9 otal 3 Wil - Total	Oct 16, 2025 Oct 16, 2025	SYSTEM	\$1,869.30 \$0.00 (\$2,203.35) (\$2,203.35) (\$2,203.35) \$2,203.35 \$2,203.35 \$2,203.35 (\$4,336.00) \$4,336.00	Payment Estimate Item Adjustment generated Stockpile Transaction This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user marshp4 overridding Payment
	0360	MGS END	Construction Stockpile Construction Construction Stockpile STMI Construction Material	- Total - Total - Total Stockpile - Total Stockpile STM	9 otal 3 Wil - Total	Oct 16, 2025 Oct 16, 2025	SYSTEM	\$1,869.30 \$0.00 (\$2,203.35) (\$2,203.35) (\$2,203.35) \$2,203.35 \$2,203.35 \$2,203.35 (\$4,336.00) \$4,336.00	Payment Estimate Item Adjustment generated Stockpile Transaction This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user marshp4 overridding Payment
	0360	MGS END ANCHOR Total TYPE A CRASHWORTHY	Construction Stockpile Construction Construction Stockpile STMI Construction Material	- Total - Total - Total Stockpile - Total Stockpile STM	9 otal 3 Wil - Total	Oct 16, 2025 Oct 16, 2025	SYSTEM	\$1,869.30 \$0.00 (\$2,203.35) (\$2,203.35) (\$2,203.35) \$2,203.35 \$2,203.35 \$2,203.35 (\$4,336.00) \$4,336.00	Payment Estimate Item Adjustment generated Stockpile Transaction This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user marshp4 overridding Payment
	0360	MGS END ANCHOR	Construction Stockpile Construction Stockpile STMI Construction Material Material - Tota	- Total - Total - Total Stockpile - Total Stockpile STM	9 otal 3 Wii - Total 14	2025 May 2, 2025 Oct 16, 2025 Oct 16, 2025	SYSTEM SYSTEM	\$1,869.30 \$0.00 (\$2,203.35) (\$2,203.35) (\$2,203.35) \$2,203.35 \$2,203.35 \$2,203.35 (\$4,336.00) \$4,336.00 \$0.00 \$0.00	Payment Estimate Item Adjustment generated Stockpile Transaction This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user marshp4 overridding Payment Estimate Exception 3 on the current Payment Estimate.
	0360	MGS END ANCHOR Total TYPE A CRASHWORTHY END TERMINAL	Construction Stockpile Construction Stockpile STMI Construction Material Material - Tota	- Total - Total Stockpile - Total - Total - Total	9 Stal 3 Wil - Total 14 14	2025 May 2, 2025 Oct 16, 2025 Oct 16, 2025	SYSTEM SYSTEM	\$1,869.30 \$0.00 (\$2,203.35) (\$2,203.35) \$2,203.35 \$2,203.35 \$2,203.35 \$2,203.35 (\$4,336.00) \$4,336.00 \$0.00 \$0.00 \$0.00 (\$6,804.40)	Payment Estimate Item Adjustment generated Stockpile Transaction This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user marshp4 overridding Payment Estimate Exception 3 on the current Payment Estimate.
	0360	MGS END ANCHOR Total TYPE A CRASHWORTHY END TERMINAL	Construction Stockpile Construction Construction Stockpile STMI Construction Material Material - Tota Construction Stockpile	- Total - Total Stockpile - Total - Total - Total	9 Stal 3 Wil - Total 14 14	2025 May 2, 2025 Oct 16, 2025 Oct 16, 2025	SYSTEM SYSTEM	\$1,869.30 \$0.00 (\$2,203.35) (\$2,203.35) (\$2,203.35) \$2,203.35 \$2,203.35 \$2,203.35 (\$4,336.00) \$4,336.00 \$0.00 \$0.00 \$0.00 (\$6,804.40)	Payment Estimate Item Adjustment generated Stockpile Transaction This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user marshp4 overridding Payment Estimate Exception 3 on the current Payment Estimate.



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JKU0074	0370	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile STMI - Total					\$6,804.40	
	0370 -	D - Total						\$0.00	
	0380	MISC.	Material		10	Aug 18, 2025	SYSTEM	(\$112,560.00)	
					10	Aug 18, 2025	SYSTEM	\$112,560.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user marshp4 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	al - Total				\$0.00	
	0380 -	Total						\$0.00	
	0390	2 IN. PSST POST - 12 GA.	Material		10	Aug 18, 2025	SYSTEM	(\$1,012.00)	
					10	Aug 18, 2025	SYSTEM	\$1,012.00 \$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user marshp4 overridding Payment Estimate Exception 4 on the current Payment Estimate.
				- Total	Total				
			Material - Tota	sterial - Total				\$0.00	
		- Total						\$0.00	
	0400	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	Material		10	Aug 18, 2025	SYSTEM	(\$504.00)	
					10	Aug 18, 2025	SYSTEM	\$504.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user marshp4 overridding Payment Estimate Exception 5 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	Material - Total					
	0400 -	0 - Total						\$0.00	
	0410	SH-FLAT SHEET	Material		11	Sep 2, 2025	SYSTEM	(\$528.00)	
					11	Sep 2, 2025	SYSTEM	\$528.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user marshp4 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					12	Sep 16, 2025	SYSTEM	(\$528.00)	
					12	Sep 16, 2025	SYSTEM	\$528.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user marshp4 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					13	Oct 1, 2025	SYSTEM	(\$528.00)	
					13	Oct 1, 2025	SYSTEM	\$528.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user marshp4 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					14	Oct 16, 2025	SYSTEM	(\$528.00)	
					14	Oct 16, 2025	SYSTEM	\$528.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user marshp4 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					15	Nov 3, 2025	SYSTEM	(\$528.00)	
					15	Nov 3, 2025	SYSTEM	\$528.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user marshp4 overridding Payment Estimate Exception 10 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Total					\$0.00	
	0410 -	- Total						\$0.00	
JKU0074	- Total							(\$429,862.60)	
	Γotal							(\$429,862.60)	



Contract Adjustments for Contract - 241018-C10

Estimate Number	Project	Adjustment Type	Other Adjustment Type	Adjustment Amount	Adjustment Percentage by Project	Created Date	Created By	Comments
8	JKU0074	Other Contract Adjustment	SPAD	\$41,938.84	100	July 16, 2025	marshp4	JOB NUMBER: JKU0074 LINE NUMBER 0040 2 INCHES, ASPH. CONC. PAVEMENT SP125 PAY FACTOR SP095B (58-28) LOT 1 = 101.2% LOT 2 = 104.2% LOT 3 = 101.6% LOT 4 = 103.9%
8 - Total				\$41,938.84				
Overall - Total				\$41,938.84				

Revision 5/29/2025 Page 12 of 12